& == -—
( $MxTE 8A22BHNOKM (TWKFBEMER I2&5
<<% g
x%iﬂi} REK )
H P B
SHTES8A30H B o WA
TEMHRER BHRARE
HEREE | [RRER - FER] FHxAR | [TETEG] b =Lk [(B#EROFESINR]
(BRMWATEE HRAR)
8A21H
4:25| [#K] FTEER
18:26( [F#XR] KXFIER 1.8:2 6 |KIF1E4KE
[#45] TXE®W
19:03| [HR] HKIER
[##%5] KM - TFER
22:20| [fER] HAKIER
[##%5] KM - TFER
8H22H
3:40| [#ER] HKIER
[#4%] K- TFER
10:1 2| [&X] Fﬁaiﬁ 10:1 2|KpH2S K%
[#4]  #ok - SIER
10:32| [&R] ,,\7}<
(€55 Z), FEER
10:40| [HR] THKEIZRER 10:4 0|KE3EKE
12:00|(BFHEFOBR
(126X, 12877
13:24| [HR] HKBH=1KEER
[#k45] KRZH. FEXEH
16:20( [f2R] LTHXREFZERE 162 0 |KIE3BAHI=KBE2E A
16:30|BFREFTORAE
16:37| [%R] BEIER (124X, 127
[f2RR] HACEER
[#5] KARZH. FIER
16:37| [%R] BEIER
[f2RR] HEKEER
[#5] KARZH. FEER
8H23H
1:45| [BR] ,,Jk,Ieiﬁ
[#:65] KARZH., F-BEEER
6:20| [fER] s&&E - ,,\7K,I’§§ﬁ
[#5] KARZH. FEER
10:2 3| [#R] AWEH>AFWIER 1812 6 |KIH2E&EI= K1 SK4
{ﬁgﬂg] mﬂ&IEiﬁ
10:23| [B#XK] AXWEH=>ATWIER
[fERR] HKEEIR
8H24H
4:26| [#RBR] XKFEER 4:26 | KFH1 SRFIfERR
(KRB
tEWh

1 By /K =68. Omm  8/22
#r%Kk=139.5mm = 8/20~8/23

1./4




[ BHFORRKRE RU BEEK )

BRELREEEAT IR IR | 124
BRI B ST 4 B B BA% B B wREE E AR

FERAMROS 2 =TsE 22— 8H22H 12:00 [8H228 16:30 |2,037tH%. 5, 072A
KAPHERIZI 2T U2 — 8H22H 12:00 (88228 16:30 |4, 515tH%. 10, 682.A
REMRAZI =Tt — 8H22H 12:00 [8H228 16:30 |1,360tHH. 3,468A
AEMBMRII2 -T2 4— 8H22H 12:00 (88228 16:30 |1,463tH%r. 3, 663A
RABINER S OFIL—LA 8A22H 12:00 [8H228 16:30 |1,342tH%. 3,170A
MERaZIa-—Tst249— 8H22H 12:00 (88228 16:30 |1,408tH%=. 2, 817A
EtREHERAZIa=FoE 22— 8H22H 12:00 (8B22B 16:30 97HF. 1,014A
MAFEMROZIa=—Tst22— 8H22H 12:00 [(8H22B 16: 30 3391+, 812N
BRI a =T R — 8H22H 12:00 [(8B22B 16:30 319, 966 A
2= faal=at o 8H22H 12:00 [8H22B 16:30 A54HFE. 1, 144N
HAEEMRIIa =TV 5%— 8H22H 12:00 (8B22B 16:30 2097 IEIPN
HENEE
EEEEBHMR OIS a=—TsEUE— 8H22H 12:00 (8B22B 16:30 995#H. 2,581 A

&t 14,9881, 36, 140N
HEE Oftt 04

BEEEAT A 5 A# £

RO a =TV 2— 0 g 0 A
SEPHME I 2= TFo 22— 0 HE 0 A
HEMROZIa=-TsEV 48— 0 HE 0 A
EEMR I a=Ts L8 — 0 HE 0 A
BIFENER SOFIL—L 0 g 0 A
MEMRIIa=Fstr4— 0 & 0 A
LtREMRIZIa=-FsE22— 0 g 0 A
AAFHRIZIa=T4EVE— 0 & 0 A
BRI a =T VA — 0 HE 0 A
(B8 i 0 i 0 A
HEEMWRII 2TV — 0 g 0 A
HENE
REEHMRIZI i =TsEVE— 0 HE 0 A

2/4




[ B#EOHE 1]

=5

AHL

i

X
3

A, H%

X

&

A, ##

- NHIEE

- EREE

324

CEEREE

124

- ZOHMDEE

#

- REEITIE

24

- FALETTIE

Lia

- HHEE - BT

%

- BEEEFTRAER

124

- EEHER

i

1. HERR

DAEE

0%

X

ﬁj\

AR

&

Bt

% | =

ERFLIFHEQERA NGNS

5%

gk

fAi5E (EH)

Bt

ziE

85E (&5

=1 k=1k=1Kk=]

5%

olo|o|oSH

Ly k

[=1k=1k=1K=]

QERBE

324]

X5

4

R AIAER (IBHETE L)

tE

HEsE

PE

E3:]

Fi%

—EpRIR

RERK

el k=2 k=1 K=]

el K=l k=1 K=]

RTFi=K

31

31

=1 k=1k=1Kk=1Kk=]

olojo|lo|o

[=1k=1Kk=1Kk=1Kk=]

QI ERBE

124]

E%2)

i3

X AIAER (BT E6L)

tE

HEE

hE

£

*iE

—EMEER

BRLEiBK

RTiRK

el Bl A k=2 K=]

el Bl k=2 K= k=]

=1 k=1k=1Kk=1k=]

[=1k=1Kk=1Kk=1Kk=]

[=1k=1Kk=1Kk=1Kk=]

@ DHhEEE

o]

X5

4

R AIAER (BT ETE )

tE

HEsE

PE

REER

B

BY&S

Al

THRE

e

REARER

Bith

XE kR

AHMERR CURIER L)

Bk

TR (EHh)

B (EH)

Z Dt

=l k==l k=1 =1 =1 =1 =1 =1 =1 k=1 k=1 k=]

=1 k=1 k=1 =1 k=1 k=1 k=1 k=1 k=1 k=1 k=1 k=1 k=]

=l k==l k=1 =1 =1 =1 = =1 =1 k=1 k=1 k=]

=1 k=1 k=1 =1 k=1 k=1 k=1 k=1 k=1 k=1 k=1 k=1 k=]

=1 k=1 k=1 =1 k=1 =1 k=1 k=1 =1 k=1 k=1 k=1 k=]

34




2. BITHERR

O£ miE{TLE 24
B EEE Al X HIFRES MR IR RR
EREIEER FTR1SHR (RFRET) BIR  [tR=YV/A—TH~ [EBEEK 8A228 8A228 1185105
JAREB D MNEAERT
RETBLER (LEWHFED BIR  [HFETHA EamE 8A228 2385405 8A23H 118§30%
© ) AETTIE 0
B R g8 75 1] X HiIFRER HihlBALe AR ER

44




